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GROUP-A / (F-*141)

-

1. For each question given below four answers are given. Out of four, only one answer
is correct. Select the correct answer. 1 x4=4

OeR 2AfSTo! aWWWWWW|WH—@‘W % TG | 9% Sedrs 4l
Tferedr |

(i)  The time period of a simple pendulum is (-5 seconds The number of oscillations
the pendulum would complete in 1 second is

<l T (AT A 0-5 (PG| IAFHE 1 (RPee T T (e At

(@ 2
) 1
(¢). 0-5
d 0-2

(i) Which of the following statements about the given reaction is truc ?

zne [RIT0R cCFae o1 @ S 952
H,S+ClL, —2HCI+S

(@) Cl, is an reducing agent.

CL, <bl Rerias smid |

(b) H,S is an oxidising agent.
H,S bl sz 2|

(c) Cl, has accepted electrons.

Cl, @ F=1g= gz TRzl

(d) H,S is reduced to S.
H,S et {elfe 2z |
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B

(iit)

(iv)
2. (a)

(b)
B13-GSc

The class of coal with highest percentage of carbon is —
I LMD *Ior A 4 Fer Aot T —
(@) Lignitc Coal

120 =

_(b) Anthracite

qRRZs
(¢) Bituminous Coal
RoeE ==
(d) Sub-bituminous coal
g- gl < |
A person uses a corrective lens of power —1-5D. He is suffering from —
GG GG —1-5.D FACH boal Aa2[ I | (947 feq ol 25 —

(a) Myopia

(b) Hypermetropia

(c) PrcsByopia
cerara

(d) Blindness

gl |

Distinguish between transverse wave and longitudinal wave. 2

SI2rE TRl W S SRR G wity e |

The wavelength of a sound wave is 1 merre and frequency 4 x10° Herrz. How
much time will be needed by the wave to travel a distance of 2/m ? 2

[3] Contd.



3. (a
(b)

4.  (a)
)

BIS—GSC

Bl =7 Tk SR /35T o AR 4% 107 2o | @2 wakathiE 2km e
wfogw e el FAum wfaa?

Or / g9q1

The frequency of a sound wave is 250 Hertz and the distance between consecutive
rarefaction and compression is 2 metres. Find the velocity of the wave. 2
B! %[ B2 TR 250 20 | SIS AAEE S ATFG A g 2517 <
GRATGIR (J91 Fefm |

An object is situated in-between the centre of curvature and the focus of a
concave mirror. Draw a ray diagram showing the formation of the image. 2

G SRG VLA Sfea® SIF T e Wee bl o7FRE (AF (3% | IEIPae AREe
AR afom (wyea |

A concave mirror of focal length 15¢m forms a virtual image of an object. The

image is twice in size compared to the object. Find the distance of the object from -

the mirror. 2

15 (& T (0T SRS WAl QAT 5t TG SIS 2fORT oo A | TS
OEHe ASREOR S e | Aol #[ TrHIeros =g [ 71|

Or / 9931

An object is placed 10cm in front of a convex lens of focal length 15¢m. Find

the location and magnification of the image. 2

15 (Bl %'g v @20 TG (FIREd A4l 1003 aes |6l 575 <% (2l 120z | 2ffsfisa
s O @da a9

Explain why an underwater objcct appears to be situated above its actual
position. - 2

I G I bl AP FFOlE oS 4l O e Rl A, I <

A ray of light'is incident normally on the boundary of two transparent media. Will
the refraction occur ? Give reasons for your answer. 1

[4]



5. .- fa)
(b)
©)
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(AR <] VBT 207 T FeheeTs e7sid © TH'*IT—?W'? | 2= AREGs! @far ¢
oM W AACE FE |

Define electric field intensity. Compare the motion of a positive charge and a
negative charge in an electric field. 2

s cwa aﬁﬁﬁwmﬁmu ST CFT Q4TS HAIGE I AN S i
e <= |

Three resistors of resistances 3€2, 4£2 and 5¢2 are connected in series to a battery
and 1s found that a current of 14 flows through the circuit. The three resistors are
now rcplaced by a single resistor and then also the same current of 14 flows in
the circuit. What is the resistance of the single resistor ? 1

3Q, 4Q 9% 50 1 M0 @4 (=A% Teate b (@BIR1E F9e Al 9 C2E S
TEICOE ST 1 IR efaifze tarz | sl civa st s 5t @i Téa0ie
ZI7F T4 RS SiF O fHRee TGS G AR [ 14 azﬂﬁm (2 2ARFeT) @3
@EHR @K R e

In the circuit given below four resistors R =50, R, =102, R, =30Q2 and
R, =542 and a 12V battery are connected. Calculate (i) the total resistance in the
circuit, (i) the current in the circuit. 2+1=3

T TGOS GRS @ R, = 5Q, R, =102, R, =308, R, =5Q &% &5t 12V

IR S A T2 TERNBI (1) 6 QN AR (i) o R 241z AR st w201
R]

Or / Gt

Show how you would connect three resistors of resistances 642, so that the
combination has a resistance of 2£2. .3

 F1 6 A RUETE FLEIS FROA STERIGA (@ 262 29, (el

[5] Contd.
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6. (a

(b)

7. (a)

(b)
B13-GSc

The specific resistance of a metal conductor is £. You are given another conductor

of the same metal which is twice the length of the first conductor. What is the .
resistivity of the second conductor ? 14

I 4Ty AR WA &l P qr 4rgta s wisik e ged R =i aole
AR ot Twal Tatz | e ~RaiReER weifEe iy e

Who discovered the relation between electric current and magnetism ? Describe

the experiment which showed that the electricity and the magnetism are related
phenomena. 1+3=4

Ry W 5oea ens 4! F=A400! (PICT S FiEete Rye o g3y o1 ot
RS freaier #REat o alf s st 2Rt <t i)

Or / et

What is electromagnetic induction ? Describe the experiment to demonstrate the
phenomenon of electromagnetic induction. 1+3=4

R 7 it 52 Rige 590 S ~RGGasT 2w et <6t s 4w
4 ' | '

Distinguish between an electric motor and a generator. < 1

@eT Wa o Wi Sesima Aoy B |

What is a covalent bond ? Explain the formation of water molecule. 1+1=2

TG AH FIF Q@ICT2 N ST o5+ 0= <4 |

Explain with reasons : (any one)

e v I (R @I oby)

()  Ionic compounds are crystalline solids.

IFAE (6 SFPIE Cailor «e|

(ti) ~ MgCl, is highly soluble in water but completely insoluble in benzene.

MgCl, +ire siexm iy e @ fie S sweay |

[6]
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8. - (a)
@)
9. (a)
()
B13-GSc

A and B are two elements having valence electrons 6 and 7 respectively. Find out
the molecular formula of the compound formed by 4 and B. : 1

GET A SIF BT @4 6 % 7 O (TS 305034 QG| A B B Q@ 5757 F91 (@60
ST ATTS SenedT |

What are oxyacids ? Mention the anions of the fqllowing acids : 1+1=2
SfHafEe FE Qe ? oo wal ReTEd G RaEE e 14
HNO, , H,CO,
Or / 911
What are bases ? Mention one property of bases with a chemical equation.

| 1+1=2
TEE T (@A 2 FEF 6! G IS AT Tlared 41 |

You are given two samples of pure water and-lemon juice in two test tubes. How
will you identify the lemon juice with the help of a suitable indicator ? 1
oI 2RTFIETe o) 72T (O e Al S GRE 39 a8 e | QUT%WW |
TS (FALT AR e fsar?

~What is a homologous series ? Explain with an example. I1=2

AT A T @ICE? GO TwrzRels (ATS Wik %54 |

Or / G941

What is a functional group ? Explain with an example. 1+1=2

PR T I (@0 2 51 SHIRAE (ATS AT 394 |

To which class does the following reaction belong ? Mention the structural features
necessary for the compound to exhibit such reaction. 1+1=2

frafiRe (s @F @ARe @ 2R R oRERes 2 @EioE e
ey 4% R

C,H, + Br, » C,H Br,

[7] Contd.



10. (a)

Define and explain the terms calcination and roasting with examples.  2+2=4
TAF S SIS 27 JO[ A Bl i Swigaeld IS 1t 4 | =

Or / 994}

Write the name and formula of an important ore of Zinc. Describe with diagram
the vertical retort process for extraction of Zinc from roasted ore. Write the
chernical equation involved. "143=4

T 61 wergje ST ST S AT Bl | Sleie wiefag vja g &S Aae
s el foasrz 2o <) kR < w81 Fiker

Answer in bnef : (any fwvo) ' 1x2=2
vy ©eq vat - (R cprean won)

(i)  An ore used for metal extraction contains CaQ as gangue. Select a suitable
flux for its removal.

41y M IJAZe Gl ARKE Ca( e W& SIvE | 3 Sifediqa T <ol
Sy Refiere 2 (@

(ii) What is the process used for concentration of sulphide ores ?

- RITRE S S AwlS 2

- (ifj) What are the metals present in the alloy Bronze ?

(b)
11. (a)
B13-GSc

K 4y 9g© & & 419 TR ?

Answer any two of the following : C1x2=2

T WA 7 (Tl ¥619 ©@E 341 :

() Name the catalyst and promoter used in the manufacture of ammonia by

Haber’s Process.’

(IR AR GTRIE #Y Seoivas IJRE T4 SasE W 5! 7459 A6
fern g "

(if) What is anncaling of glass ?

o9 T2 Aroeiaed 52

(iij) Name the raw materials used for manufacture of Portland cement.

ALeTS BT TeAMTS IR 11 (51 ANANATZT 7 Tl |

[8]



12.

(b) Name two natural fungicides. . 1

wo! 2iFfes Sganaa w fera |

What is meant by cracking of petroleum ? Name two petrochemicals. 1Hel=2

G oA we-wge Wit {2 goI A IRt a9 W

Or / 9

What is the full form of LPG ? Write the name of its principal constituent.  1+1=2

LPG 7 =< sE! fF 2 3R 24 SAMFCOIE st {7 |

GROUP-B / (4-*it4t)

For the questions given below four answers are provided of which only one is correct..
Select the correct answer. ‘ 1%2=2

o ARIT 2 N BIRGIE B [l St | 5ifFEtE fouse Btz ww Oed | wa Teo! iR
Bferedt

(i) Balanophorais a
(@A G

(a) total stem parasile

T e Gl

(b) partial stem parasite
W Fe 2FG

(c) total root parasite
w=7)e{ ST 2SR

(d) partial root parasite

I 3T TG |

B13-GSc [9] Contd.



(i) The chemical substance that is produced during lightning is —

Rieal! (orasie sl cart amrfaes = g 2a —

" (a) Nitric acid

ARG afew
(b) Nitrous oxide
2GR THIRT
(c) Nitric oxide
MRGT IR
(d) Sulphuric acid
RERFE R AR
14. Answer the following :
| oEd eeEEd e
(@)  Write tlie Phenotypic dihybrid raﬁo.

(b)

15. (a)

(b)

B13-GSc

e T STPets! &l |

Write the name of two glands present in the skin of man.

What do you mean by crossing over ?

b2 TSI e [ ISl ?

Name the disaccharide found in milk.
s Ree Al A= a1 ferdf |

Write two principal functions of liver.

T oI 2T SR e |

Or/ 9%

Write two significance of photosynthesis.
AN AL o1 wied ferf|

[10]
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16. Wrile any three diffcrences between aerobic and anacrobic respiration.

(O3]

RIS I SIS %o e & (e Fofint =114y o |

Or /9T

Write how oxygen and carbondioxide gases are transported in human body. 3
T (7S BTG Wl S-Sl SrHiZe (o 6 Wi ARize = ot

17. (a)
()
18. (a)
b
19. (a)
)
B13-GSc

State onc harmful effect of transpiration. : ; 1
2ATAT 5! il SrEe <= |

What is lenticular transpiration ? _ 1
AR AT DI (AT 2

Fill in the blanks : 1
2ifeT S1Z #7641 -

The blood vessels having extremely thin wall for exchange of materials are called

w3y R A AR TSRS (@9 S AeeT T (AT
@R.?fl

2

Draw a labelled diagram of internal structure of heart of man.

TRE TMAER SerEal sloas ol iz foa =i |

Which hormone controls apical dominance in plants ? 1
(PR 2T Slend < el fage a2

What is autonomic nervous system ? Write the name of two parts of autonomic
nervous system. 1+1=2

T WO o 2w AR ol O A el |
Or /94T

Name the largest endocrine gland in human body. Write one important function of
the hormone produced by this gland. 1-+1=2

T SBIROLE Bled SreeEal _fﬁtb‘ﬁ-nﬁﬁﬁm @3 &ifgra e I91 2q90 [gd ao!
g IR A

[11] Contd.



21.

What are the main nitrogenous waste materials produced in the human body ?

SR (S T (2T S IR Tewaer (Tbe AR T & 2

(@) Why reduction division is essential during gamete formation ?

(b) State the function of interstitial cell stimulating hormone (ICSH) in man.

TR (728 TOIABOTT CIF Sales 25 =1 P SUerd 3 |

Write how mutation causes variation in organisms.

AR AT G iers femel %2 0 o7l

Write two reasons for conservation of natural resources.

AT oI AT YOI el e 5 |
Or /931

Why rain water harvesting is essential ?

e oA I T aATare ¢

Explain how embryology provides evidences in favour of evolution.

TR A (o) REe ™ AATF ArF Med I <1 |

Or/ et

Discuss briefly the Lamarck’s theory from four important angles.

| (TR TR BIf sy e W Al e S| v |

B13-GSc [12]

(&%}

[R]

o



Full Mafks IOG
Pass Marks : 30

Time : Three hours

The fi

s in the margin indicaté marks

for the questions.

(O

E" -"'irl"!'.l'- :" _1.1

For unsuccessful Old Course Private candidates of F AHM Examination 2012 and earlier.

2012 ¥ SIF ©IF G199 ¥4 HSLC/AHM #{I1C GFeIY (211 2377 #No7arwy 2%ees o im&q a3

Answer Group-A and Group-B in the
same Answer Script.

F O A-=-9 Teg qrEdE 9206 FiRal |

GROUP-A |/ (F-xfi)

Downloaded from JobAssam.in

. For each question given below four answers are given. Out of four, only one answer

1s correct. Select the correct answer. 1x4=4
559 AAlSUn! 29 TS SiRbine Ted Mal =itz | tiEtE fTose Wiz ua ©us | wF Gedts! iR

Tlered |

(i)  The time period of a simple pendulum s 0-5 seconds. The number of oscillations
the pendulum would complete in 1 second 1s

A5l FEE (AERE 2IGERET 0-5 (29| (N 1 (RPee T S (| 7R
@ 2

@) 1

(¢ 0-5

(d 0-2

B13-GS¢ = . [13] Contd.



(it} Bauxite is a
JHIRG e S
(a) Silver ore |

EQE eI

(b) Platinum ore

&=IPERS

(¢) Aluminium orc
N[ =[5 S[F

(d) Cq
i :
| (Ef::) Which e Tollowing is a "f','_j'_ff_' 1 by Protein-Energy Malnutrition ?
(@) R
RGE |« |
() Kwashiorkor

e

53] 9

(c) Be
SIRIAIE]
(d) Goitre
=T
(tv) The speed of light is the maximum in —
(IR @) I —
(@) diamond
BiEI]
(b) glass
S2[2Y]
(c) water
7AIre
(d) vacuum
e

B13-GSc [14]
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2. (a)
(b)
_(C)

3. (a)
(b)
(c)

4. (a)

B13-GSc

Define frequency of a wave. |

TaRe] B TR e |

What are ultrasound and infrasound ? Mention two uses of ultrasound in medical
science. ‘ 3

S S SR i @2 BieeneTe s 1o R Trad 4|

The distance between two consccutive crests of a transverse wave is 1m. The
velocity of the wave is 10m/sec. Find the time-period of the wave. )

51 S waeR Tl i AR Ao 7Eg 17519 | SRABRE T 10 5/ (e
ZUE SARIMOA ROt Sferedr| ~

Write one use of a concave mirTor. _ E 1

OEE AT Al TR Tl

Draw a neat labelled diagram showing the formation of an image of an object in
a plane mirror. 2

e WA Sie (2l <t TR 2o o1yl @3 Al e aPibe sk 1|

An object is placed at a distance of 10cm from a convex mirror of focal length
15¢m. Find the position, nature and magnification of the image. 3

15 (& TaE vEEE a¥n $ed WAl ARl 10 (&Y Heqo 5T & 99 (I
| 2R wg, 23 wie Redy fefa =

Or / 9931

An object is placed 10¢m in front of a convex lens of focal length 15¢m. Find
the location, nature and magnification of the image. 3

15 (o5 T e 2 S (RTEa Ad 10 (2 AT <t 7 3 (AR (TR afsima
<, 2o i fada fef <=

Definc refractive index of a medium. - 1

g aferRdica AL ol

[ 157] Contd.
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5. (@
)
(f)
(@
6. (a)
B13-GSc

For what phenomenon of light do mirages occur in desert ? Explain the formation
of mirage in hot desert. [+3=4
(P4 CAFICHI 20T A Srefie Taibed 5% 22 2 S Ierelie 8| b o7
4l |

[§S]

State Coulomb’s law in electrostatics with its mathematical expression.
Faafayyos geva 3qub! siiqfes ez &)

Distinguish between the potential difference between two points and the potential
at a point in an electric field. b

e crae v fae Red cov il B e free — @2 wB isre 9 A1
ferain

Define electric field intensity. A charge of 5x107°C experiences a force of
2x107" NV at a point in an electric field. Calculate the magnitude of the intensity
at that point. ) 142=3

(Ao (g 2ARETS A 37T | 4 e (e (e <t Rrge 5% 107° gersasiama
i gt <@t T @ AT 2107 /780 / 72 e Rge corarel 2llaens e [efa < |

An electric lamp is connected to a 220} linc. The current through it 15 2-0.4.
What is the resistance of the filament of the lamp ? 2

BT (APIEF @2 b1 220V F(2as =50® FCAS 41 (2R | B Arend eaifzs fypes
AT 2- 04 | FT=-ICBR Sl cay e 2

Who discovered the relation between electric current and magnetism ? Describe
the experiment which showed that the electricity and the magnetism are related
phenomena. 1+3=4

e i peeed AEs 94T TR0 (FI SIRSE s {yge o pee 9e@
FAEH! 2Afen Fat 2RrFICe! 34 =90 |

Or / g9

What is electromagnetic induction ? Describe an activity which demonstrates the
phenomenon of electromagnetic induction. 14+3=4

Fgepdm o 2 Rpgaam SiwEem AREGAI0! el <O SR 4l |

[16]



(b)

1. (a)
(b)
(c)

- B13-GSc

What is the minimum amount of information needed to determine the direction
of the magnetic force on a moving charge ? 2

Wﬁs%‘@%e%%@ﬁvn%%wmemf‘@mwwaﬂwﬁﬂrﬁ@
FR AiE 2 :

Name a device which converls an clectrical signal to sound. 1

Wﬂ%%ﬂﬁﬂ@%@ﬁﬁ%ﬁﬁwml

What is a covalent bond ? Wrile two properties of covalent compounds. Give an
example of a molecule formed by triple bond. 1+2+1=4

SRS A T @I AR (TS s il | RIS o1on (Rl BT S
Tz | | , ST |

Answer any one

fr T 1 TR

(i) Choose the polar molecules from the following : _ 2
v RIS Adt & SR i S
CeH,, H,O, CCl,, NH;

(ii) The formulae of somc ions are given below. Find out the formulae of the

compounds named below :

lons : Mg*", AP 0> N3

Compounds : Magnesium Nitride, Aluminium Oxide. 1+1=2
o g TR K R | T A T ] (IR o Bt
SIE A_’fg2+, A [3+, 02—, Nsﬁ

Tl e ARG, G CEIB

Give reasons why ' . 2
el wesfiat 99

Sodium chloride is soluble in water ?

S FIRT AN TG ?

[17) , Contd.



8. (@) What are metals ? Write briefly about any three chemical propertics of _metals.
1+3=4

AP T (T2 AT R fofeor ammfems ooy fawa e ¥ 2
Or / 937

What is concentration of ore ? Describe two processes of concentration of ore.

1+3=4
SR SAbIe 2 SFaq sl qoT “wfe aeqr )
(b) State true or false —
All ores are minerals but all mineraljs are not ores. 1
TGJ (7] ST G Fq — . |
A I AN 8 AT 9fAas Sy 727
. (c) Answer any. four-of the following : ‘ 72x4=2

el [ (PIEa! BIAGIT T o

(i) Name a metal found in free state in nature.
coli=l BT &Ieq T f&7l |

als

(i) 'Write the name of one metalloid.
<51 ST I form

(iii) Out ¢ tal 1s more reactive ?

E’i%amwwm ECET RﬂﬂﬁwwﬁﬂfW?

(iv) What is produced when gangue combmes with flux ?

el e WeeT ReoieTs w90 (@ifere 27, 7 Beom 39

(v) Fill in the blanks :

G 212 7179 T

Brass is an alloy of zinc and :

f#ioe 26 s i T AT 4D
B13-GSc [18]
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9. (a)
()
10, (@)
()
B13-GSc

Write name and formula of 1%2=2

AT % ATES ol

(i) an aromatic hydrocarbon

Bl GF T ZRG I
(ii) a paraffin
Gt AR
Or / 941

Write the names of

s ot
® H-C=C-H
i [ |
Explain ‘why carbon exhibits tetra-covalency. 2
i = — IR o vAAEe! (IR
Or / S%1

What is a homologous series ? Write the name and general formula of a homologous
series. ' 1+1=2

Sl A FE TR ? BT RO (A I S AR FLT e |

Write the chemical equation for manufacture of ammonia by Haber’s Process.

Mention one use of ammonia. 141=2

ERRR G T S T Rt il | @i @t <RI SrEd T4 |
Or / F%<T

Write the formula of bleaching powder. Write one of its uses. 1+1=2

iR ISR T 5| 3am B R feran|

Name the compound of sodium prepared by Solvay process. -~ 1

TS AGE 2Ee 9 AT CqHeH == feRi

[19]1 : Contd.



(¢)

1L (a)

(@)

(c)

12. (a)

()

Fill in the blanks : : 1
YT IiZ 7 4 £
Fuming sulphuric acid is known as
YA Bl SRedfees @

What are vitamins ? How are they classified 7 Give. examples. 1+2=3
TSI 1T @IET? W @0T @fikRee w40 21?2 Svizsd
Or / 9T
What is food adulteration ? Write the names of two food adulterants. Mention the
foods for which they are used as adulterants. 142=3
Y] (ST FIF (@2 [0 I (SEERS smidq i ol & e
. RBRET (CEETRT "I T2 T4 242
What is Fluorosis ? 2
TRy 2
What is iodised salt ? 1
o e =19 2 .
Write two characteristics of a good fizel. 2
©fF 24 ot (A ot
Or / 931
Name two devices used to harness solar energy. 2
Clieeifies Stizger A agel 1 75! Aggferg i fopait |
Give reason why
a foul smelling gas is mixed with domestic LPG ? 1

B13-GSc
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